SKU DETAILS

SMALL RINGS(1U)

APPLICATION DETAILS
(5 UNITS EACH PER SKU)

VIEW-B 5 3.00 - 7 T
[46] [76] T ( )
(31 . S
1.13 n T )
[29} 1.71 3.00
113 g VIEW-A [44] [76)
[29] )
.08 l 25
[R2] [#6] CAGE NUT-M6
FRONT VIEW VIEW-A n 14/16 SWG
.64
(6]
VIEW-B
g 4
g g ’
Q
E y
N o
LARGE RINGS(2U) 5 % i
b Py
VIEW-B N 0
* 3.00 N ¢ SMALL RING P B
.25 [76] N B
[#6] N Iy .
ge . & 3 -
J= - A1 g -
T @ [3] ; RING )
[54] = <= VIEW-A 3.00 , =
1.75 a -
[44] 543 7e] I ( ~
(87] y e \ :
08 [26] § / e
[R2] 83 ™ E SCREW—-M6X12
21 L Q
[21] O 64 N
FRONT VIEW [16] 3
VIEW=A VIEW-B i
N
g
N
TYPICAL INSTALLATION DETAILS
(EXPLODED VIEW)
ISOMETRIC VIEW
NOTES:
1. INSTALLATION MUST COMPLY WITH ALL APPLICABLE NATIONAL AND LOCAL CODES.
2. PLEASE REFER TO APC PRODUCT MANUAL FOR DETAILS.
3. ALL DIMENSIONS ARE IN INCHES [MILLIMETERS]. THIS DRAWING AND SPECIFICATIONS HEREIN ARE THE PROPERTY OF TILE: WG NO: REV.
4. EACH LARGE RING INCLUDES (2) M6 SCREWS & (2) CAGE NUT. REPRODLCED G bocD M MoLE e 1 o e e Q Pc® (5 LARGE AND 5 "SMALL RINGS) . ARST T SA 0
EACH SMALL RING INCLUDES (1)M6 SCREW & (1) CAGE NUT. THE MANUFACTURE OR SALE OF ITEMS WITHOUT WRITTEN PERMISSION Eiﬁ\\w:lNEEP BALM;URUGAN g;jﬁ:ig: ﬁRr(\)JJECTL\OEN
FROM APC. THIS DRAWING IS BASED UPON LATEST AVAILABLE Gl : M.UHRHAN/B.OLIVER = -
5. WEIGHT OF UNIT IS 3.1 LBS [1.41 kg]. INFORMATION AND IS SUBJECT TO' CHANGE WITHOUT NOTICE. www.apc.com PROJECT: SUBMITTAL DRAWINGS | SHEET 1 0F 1 APPROVED sswmonestweusavsman | 03-JAN-08 | NI . A




